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4 SAFALT A cow Q1) Anuj is ranked 9th from the Top and 38th from the
Sl bottom in his class. What is the total strength of the class?
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Q.2 In a row, Vivek’s is at the 9th position from the front and
Sunil is at the 7th position from the back.There are 6
students standing between Vivek and Sunil. So What is the
total number of students in the row?
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Q. 3 A total odiers were standing in a row. Ram
Singh was standing at the 25th position from the left.

Shyam Singh was standing at the 20th position from the
rlgli/éw many soldiers were standing between Ram
Singh and Shyam Singh?
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Q. 4 In the final list of 60 selected candidates,
Aunja’s was rank was 35th from the Top, and
Binita’s rank was 39th from the bottom. So how

many candidates were between Aunja and Binita on
the list?
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4 SAFALTA cow Q.5 The total strength of the class is 90 and the number of

. girls is twice that of boys. Suraj is ranked 14th from the top.
Suppose there are 10 gi_ﬁs ahead of Suraj. Find the number
of boys after Suraj in the ranking order.
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o SAFALTA com Q. 6 There are fifteen girls standing in a line facing North.
- S Suman is standing at 11th position from the right side.

Radhika is standing at 9th position from the left side. Mina
is standing between Suman and Radhika. Find the number

of girls standing to the right of Mina.
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= AINTIRy Y Q. 7 Study the following Iinformation carefully and answer
- B the questions.

Five friends A, B, C, D, E get different marks in the exam.
A gets more than B but less than C. C gets 65 marks. D
gets less marks than E only. The person who gets the
minimum marks géts 60 marks and the one who gets the
Wghlghest marks, gets 80 marks.
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; SAFALTA com Q.7 Who gets the second highest score?
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(a) B
(b) E
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Q.8 Who is the most likely to have scored 62 marks?
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= SAFALTA ¢ Q.9 Who scored the lowest marks?
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(a)B

(b) E

(c)D

(d)C
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Q. 10 Among A, B, C, D and E, A is taller than only B but
shorter than C. C is taller than E. C is not the tallest. Who
among them will be in the middle if they stand in the order of
their height?
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(a) A

(b) C

(c) B

(d) D

(e) None of these



P AINTRy S Q- 11 In a queue, 11 persons are sitting and facing north. A is fifth
— e from the right end. Five persons sit between B and A. Persons between

A and C is same as persons between B and C. Then what is the position
of B with respectto C?
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(a) Fourth to the left

(b) third to the left

(c) third to the right

(d) none of these

(e) Can’t be determined
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T A RNLY"] (. 12 Adarsh is eleventh from the left end and Naveen is 20th
from the right end in a row. If they interchange their
positions, Adarsh becomes fifteenth from the left end. How
many persons are there in the row?
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(a) 36

(b) 35

(c) 33

(d) 34

(e) None of these
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Q. 13 A is 25th from the right end and B is 25th from the left
end of a row . If they interchange their position then A
becomes 25th from the left end . How many persons are
sitting in the row ?
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(a) 51

(b) 50

(c) 49

(d) CND

(e) None of these
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